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[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
| Then mark the correct choice on your answer sheet.

I-  That —========- car has none of the features, like power windows and steering, that make
modern cars so great.
1) antiquated 2) superficial 3) aesthetic 4) hazardous

2-  With several agencies regulating the reports, it was difficult for the accused to argue
against its -——————--- i
1) infamy 2) relevance 3) veracity 4) anticipation

3-  Sinece Jack did not want a speeding ticket, he tried to ------ -—- the police officer by giving
her a compliment.
1) convict 2) appease 3) reinforce 4) escape

4-  Trudy studied harder, but there was only ---——-- improvement in her grades, so she
agreed to get a tutor.
1) marginal 2) commonplace  3) monotonous 4) unbearable

5-  Living apes—chimpanzees, gorillas, orangutans, gibbons and siamangs—and humans
share a constellation of ----=----- that set them apart from other primates.
1) demands 2) certainties 3) disciplines 4) traits

6- Have you ever noticed how a coin at the bottom of a swimming pool seems to wobble?
This occurs because the water in the pool bends the path of light --———--- from the coin.
1) generated 2) recognized 3) reflected 4} differentiated

7-  Publicly available Web services (e.g. Google, InfoSeek, Northernlight and AltaVista)
-------- various techniques to speed up and refine their searches.
1) specity 2) capture 3) determine 4) employ

8 Owing to the protests of the Dominicans and other regulars, the book was prohibited in
1760, but the second part was issued -——--—----- in 1768.
1} meticulously 2) superstitiously ~ 3) profoundly 4) recklessly

9-  While admissions offices do admit many students with similar profiles, a college is still a
------ and diverse community.

1) mundane 2y controversial 3) anonymous 4) heterogeneous

10- Despite the security, the thief's ability to break into the museum without being caught
remains an -———------—- to the police,
1) infection 2) enigma 3) illusion 4) authorization

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on your answer sheet.

Thunder is caused by lightning, which is essentially a stream of electrons flowing
between or within clouds or between a cloud and the ground. The air surrounding the
electron stream becomes (11) ---—--- hot—up to 50,000 degrees Fahrenheit— that it
forms a resonating tube of partial vacuum (12) -=--—----- the lightning’s path. The nearby
air rapidly expands and contracts, (13) —----—-- the column vibrate like a tubular
drumhead (14) -----——--- a tremendous crack. As the vibrations gradually die out, the
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sound echoes and reverberates, generating the rumbling (15) ---------- thunder. We can
hear the booms from great distances. 10 or more miles from the lightning that caused
them.

11- 1) very 2) 50 3) oo 4} enough

12- 1) surrounding 2) surrounds 3) that surround 4) and surround

13- 1) that makes 2) and making 3) making 4} it makes

14- 1) produces 2)is produced by 3) and produce 4) and producing

15- 1)1t s called 2y i1s called 3) we call 4) which called

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on yvour answer sheet.,

PASSAGE 1:

The development of various media encompassing television, newspapers. and the
Internet including social media. has enabled combat and damage situations to be
broadcast across the world in real time, tending to make casualties caused by fighting
and other events greatly impact society. This has required countries to minimize
casualties of citizens and their own forces on the battle field. In response to these social
trends, precise and effective attacks dedicated to military targets are required, and
countries maintaining high-tech troops. work on improving the destructive capabilities
of their weapons, precision guidance technology, and information-related technology
including CISR. and unmanned technology (e.g. drones) to be able to carry out more
precise and effective attacks. They also place emphasis on research and development
activities. improved stealth capacity to increase opportunities for preemptive attacks.
stealth technology for reducing risks for attrition of combat capabilities through
improved survivability, and nanotechnology used for parts and materials related to these
technologies. The Quadrennial Defense Review (QDR). published by the U.S.
Department of Defense in March 2014, states that the proliferation of state-of-the-art
technologies will transform the mode of warfare.

16- What is the passage mainly about?
1) The development of the media
2) The role of the media in military science and technology
3) The modern outlook on military science
4) The technological bases of military science
17-  Which of the following statements about the media can be inferred from the passage?
1) It has contributed to the advancement of military technologies.
2) It provides valuable information about military targets.
3) The media. particularly social media. has changed the way we live and interact.
4) Its development has drawn attention away from the realities of modern warfare.
18-  The word “preemptive™ in line 11 is closest in meaning to —----———-- !
1) essential 2) immediate 3) protective 4) preventive
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19-  The passage states that countries with high-tech military forces —-——-—-- B
1) focus on improving military precision
2) let their soldiers use the media on the battle field
3) try to use less destructive weapons
4) spend more time and money on research rather than military actions
20-  Why does the author mention the Quadrennial Defense Review in the passage?
1) To overestimate the US warfare capability
2) To give examples of countries with state-of-the art technologies
3) To show that some countries emphasize the role of technology in warfare
4) To list the responsibilities of the U.S. Department of defense

PASSAGE 2:

The core concepts of political geography are territory and territoriality. Territory is to
be understood through its relations to those activities we deline as territorial: the exercise
of territoriality. in other words. Robert Sack (1983) has defined it as activity aimed at
influencing the content of an area. This means that activities of an exclusionary or.
alternatively, of an inclusionary nature would be regarded as territorial and the area the
content of which one wants to influence as the territory in question. This means that in
addition to territory having associations of area and boundary, it also has ones of
defense: territories are spaces which people defend by excluding some activities and by
including those which will enhance more precisely what it is in the territory that they
want to defend.

In these terms, examples of territorial activity are legion. Import quotas and tariffs
are obvious cases in point as are restrictions on immigration. Sometimes the products
whose movement is being regulated have a strong cultural content: the French
government has tried to limit the amount of non-French programming shown on French
television. This i i ' imi i

Jurisdiction. Examples can be found at all manners of scales: the gated communities that
have become common in the suburbs of many American cities. for example: or the
greenbelts which surround every British city of any size and which limit new residential
development within their boundaries. And the latter example reminds us that any form
of land use zoning is a territorial form of activity.

21-  What aspect of political geography does the passage mainly discuss?

1) Its scope 2) Its definition
3) Its fundamental concepts 4) Its underlying principles
22- The word “they” in paragraph 1 refers to ---——--—-—- -
1) activities 2) people 3) territories 4) spaces
23- It can be inferred from the passage that territory and territoriality -—--—--——-—-- 4
1) are interrelated ideas 2) are not easy to define

3) only include exclusionary activities  4) refer to methods of defending an area
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24-  What is the writer’s main purpose in paragraph 2?
1) To demonstrate how governments priotrize territorial activities
2) To inform the reader about territorial activities in France
3) To explain the cultural aspect of territorial activities
4) To give examples of territorial forms of activity
25-  What is the function of the underlined sentence in paragraph 27
1) It draws a hasty conclusion.
2) It raises doubts about the usefulness of territorial activity.
3) It clarifies a preceding idea.
4) It states the writer’s main idea about territorial activity.

PASSAGE 3:

Political science is a discipline that is defined by the substance of what we study—
politics. As Beck (2000) remarks. researchers “freely use whatever methodological
solutions are available™ drawing from other social sciences like economics, sociology,
and psychology as well as statistics and applied mathematics to answer substantive
questions. Unfortunately this has led to misinterpretations as experimentalists learn
about their method from other disciplines and few nonexperimentalists have an
understanding of advances that have occwred outside political science. The most
prominent misconception is that the ideal experiment is one where a researcher
manipulates one variable, through a treatment. there is an experimental group who
receives the treatment and a control group who does not, and subjects are randomly
assigned across groups. This perception arises largely because most nonexperimentalists
learn about experiments through the lens of behavioral social science methods
formulated in the 1950s. Certainly such a design can be perfect for the case where a
researcher is interested in the causal effect of a binary variable that might affect the
choices of subjects in some known context, and the researcher is interested in nothing
else. But this is rarely true for any significant question in twenty-first century political
science research. Furthermore, advances in technology have changed the nature of
experimental research in fundamental ways that researchers writing in the 1950s could
not have anticipated. By having an outdated view of what an experiment should be and
what is possible with experimentation, political scientists often rule out experimentation
as a useful method for many interesting research questions.

26- It appears that the writer believes Beck’s words —=---s-eeemeume,
1) provide a general definition of the term political science
2) raise researchers’ awareness ol advances in research methodology
3) underestimate the interdisciplinary nature of political science
4) may make researchers misunderstand research in political science
27-  According to the passage, in the ideal experiment the researcher ————----- —
1) conducts the experiment without a control group
2) decides on a treatment
3) treats all subjects in the same way
4) tries not to manipulate the main variable
28-  The word “anticipated™ in line 19 is closest in meaning to ——-----—--
1) expected 2) analyzed 3) created 4 dcve]oped
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29- It can be inferred from the passage that political scientists ——-———-—-— -

1) still have a traditional view of experimental research

2) have trouble posing research questions

3) prefer experimental research methods to non—experimental ones

4) have contributed a lot to the development of experimental research since the 1950s
30-  Which of the following best describes the tone of the passage?

1) Biased 2) Argumentative

3) Supportive 4) Emotional
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